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Instructions:

1. Write neatly and eligibly. You may lose points for messy work.

2. Show all your work. No points for answers without justification.

3. Calculators and Mobiles are not allowed.

4. Make sure that you have 10 different problems (6 pages + cover page)

Page Grade Maximum
Total Points
Page 1 13
Page 2 18
Page 3 20
Page 4 21
Page 5 11
Page 6 17
Total 100
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1. (7-points) Find the average value of the function f(z) = 45 — 10 cos (ilrf-) over the inter-
val [0, 24].
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2. (6 points) Write out the form of the partial fraction decomposition of A e
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Do not determine the numerical values of the coeflicients.
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3. (8 points) Find f (sec — sinf)? dé.
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5. (10 points) Find/secﬁ(t) tan®(t)dt.
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(Hint: Use the substitution ¢ = tan (g) ,
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.1
7. (10 points) Find / = > 2 da.
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z® + o?
(11 points) Find [ -4 dz.
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10. Determine whether the integral is convergent or divergent. If it is convergent find its
value.
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(b) (10 points > dz, where p is a constant such that p > 1
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